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Bar Graph—Multiple Choice

Directions: Look at the bar graph about population growth
in Europe. Use the graph to answer the questions

that follow.

Population Growth in European Cities

1 In 1800, the population of London
was about
A 1 million
B 2 million
C 3 million
D 4 million

2 About how many more people lived
in Paris in 1890 than in 18007?
A 1 million
B 2 million
C 3 million
D 4 million

Test Your Knowledge

3 The population of Berlin in 1890 was

about

A 4 million
B 3.5 million
C 2 million
D 1.5 million

In 1850, about how many more
people lived in London than

in Berlin?

A 1 million

B 1.5 million

C 2 million

D 2.5 million

How did the advances of the Scientific Revolution change the way

Europeans lived and worked?




